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L SETUINEE S
(CHAr: 1Y)
EERH FEtEUEEE | AT | ST & F | NEEGENEE| B A A
SRR S 2RI 360,586,852 21,228 360,608,080 360,608,080
YN X = ElES 68,548,880 68,548,880 68,548,880
_ F DML LR 7,000,000| 7,000,000 7,000,000
i Y ATEE AR (L) 429,135,732|  21,228|  7,000,000| 436,156,960 436,156,960
S UNES-¢ 298,425,496 29,574 298,455,070 298,455,070
g R 81,395,072 81,395,072 81,395,072
§ EvT 20,184,225 8,629|  4,503,247| 24,696,101 24,696,101
i DA AN 33,775,799 5,646,654 39,422,453 39,422,453
- (] e A By 4 S AR R S 4 I AR -19,490,641 -2,156,328| -21,646,969 -21,646,969
P—E GBI EH2) 420,289,951 38,203|  7,993,573| 428,321,727 428,321,727
P —E AT IR ZEAA(3)=(1)-(2) 8,845,781 -16,975 -993,573| 7,835,233 7,835,233
— | ZDREE Y IER 6,151 12 164 6,327 6,327
4{ LTOMDY —EATEBIML AR 27,422,873 3,345,144 30,768,017 30,768,017
gé Y —EATHEIN G FH(4) 2,729,024 12| 3,345,308 6,074,344 6,074,344
“?i SRR 11,322,793 1,225,124| 12,547,917 12,547,917
g P —EAEESE HERG) 11,322,793 1,225,124 12,547,917 12,547,917
® P —EATEB MR AR6)=(4)-(5) -8,593,769 12| 2,120,184 6,473,573 -6,473,573
% HEIRZE AR (T)=(3)+(6) 252,012 -16,963| 1,126,611| 1,361,660 1,361,660
i 3 B ik S A B AN Ak 0 0
| TR 1,126,611 1,126,611  -1,126,611
B AR ENTNC) 1,126,611 1,126,611|  -1,126,611
| EER e SRR A 0
. HEX Sy A& H 1,126,611 1,126,611  —1,126,611
= Repl 2 FHEH9) 1,126,611 1,126,611  -1,126,611
e B R EAE(10)=(8)-(9) 1,126,611 -1,126,611 0 0
Y S BN ER(11)=(7)+(10) 1,378,623| -16,963 1,361,660 1,361,660
- HITH R B B 1 A2 4 (1 2) 88,527,615| 4,342,905| —50,781,714| 42,088,806 42,088,806
% 4 AR BT T R AR AE (13)=(1 D+(12) 89,906,238 4,325,942| —50,781,714| 43,450,466 43,450,466
" AL BURE(14) 0 0
2 Z DA AT AE(15) 0 0
> £ MO R SR A1) 0 0
z YRR B e A2 AE (1 7)=(13)+(14)+(15)-(16) 89,906,238| 4,325,942| 50,781,714 43,450,466 43,450,466




